
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk
lkekU; vè;;u

(iQjojh eSx”khu tk¡p ijh{kk)
fnukad& 12-02-2023

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 

esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10.	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	laln }kjk ikfjr fd;s x, leqnzh tynL;qrk jks/h fo/s;d 

ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bl fo/s;d dk izko/ku ^vUkU; vkfFkZd {ks=k* dh 

lhek ls vkxs ds leqnz ij ykxw gksrk gSA

	 2-	 bl fo/s;d esa ,d futh tgkt ;k foeku ds 

pkyd ny ;k ;kf=k;ksa }kjk futh mn~ns'; ds fy;s 

fdlh tgkt ;k foeku] O;fDr ds f[kykiQ fgalk] 

fgjklr rFkk fouk'k vkfn dks voS/ ?kksf"kr fd;k 

x;k gSA

	 3.	 bl fo/s;d ds ikfjr gksus ds igys Hkkjr esa xgjs 

leqnz esa MdSrh ds ekeyksa ls fuiVus ds fy;s Hkkjrh; 

naM lafgrk] 1860 ds rgr eqdnek pyk;k tkrk 

FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2	 (d)	 1] 2 vkSj 3

	 2-	Hkkjrh; lafo/ku dh ukSaoh vuqlwph ds lanHkZ esa] 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g dsanzh; dkuwuksa dh ,d lwph gS] ftUgsa ekSfyd 

vf/dkjksa ds mYYka?ku ds vk/kj ij vnkyr esa 

pqukSrh ugha nh tk ldrh gSA

	 2-	 bls o"kZ 1956 esa gq;s 7osa lafo/ku la'kks/u ds 

ekè;e ls 'kkfey fd;k x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	
	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa

	 (d)	 u rks 1] u gh 2

	 3-	dukZVd&egkjk"Vª lhek fookn ds lanHkZ esa] fuEufyf[kr  

dFkuksa ij fopkj dhft;s%

	 1-	 orZeku esa csyxkoh dk iwjk {ks=k egkjk"Vª ljdkj 

}kjk iz'kkflr gksrk gSA 

	 2-	 dukZVd us ^jkT; iquxZBu vf/fu;e] 1956* dh 

/kjk 21(2)(ch) ds vk/kj ij bl {ks=k dks egkjk"Vª 

esa tksM+s tkus ij x`g ea=kky; ds le{k vkifÙk ntZ 

djkbZ gSA 

	 3-	 egkjk"Vª bl {ks=k esa cksyh tkusokyh dksad.kh dks 

ejkBh Hkk"kk dh gh ,d cksyh ekurk gS vkSj bl 

{ks=k ij viuk nkok djrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2

	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	 1.	 With reference to the Anti-Piracy Bill passed by 
parliament, consider the following statements:

	 1.	 The provision of this Bill applies to the 
sea beyond the boundary of the 'Exclusive 
Economic Zone'.

	 2.	 The Bill makes it illegal for the crew or 
passengers of a private ship or aircraft to 
commit violence against a ship or aircraft, 
detention and destruction etc. for personal 
purpose.

	 3.	 Prior to the passage of this bill, cases of deep 
sea piracy in India were prosecuted under the 
Indian Penal Code, 1860. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
	 2.	 With reference to the Ninth Schedule of the Indian 

Constituition, consider the following statements:
	 1.	 It is a list of central laws, which cannot be 

challenged in court on the ground of violation 
of fundamental rights.

	 2.	 It  was incorporated through the 7th 
Constitutional Amendment,1956. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 3.	 With reference to The Karnataka-Maharashtra 

Border Dispute, consider the following statements:
	 1.	 At present, the entire region of Belagavi 

is administered by the Government of 
Maharashtra. 

	 2.	 Karnataka has lodged an objection with the 
Ministry of Home Affairs on the inclusion 
of this region in Maharashtra on the basis of 
Section 21(2)	 (b)	 o f  t h e  ' S t a t e s 
Reorganisation Act, 1956'. 

	 3.	 Maharashtra considers Konkani spoken in this 
region as a dialect of Marathi language and 
claims this region as its own. 

		  Which of the statement(s) given above is/are 
correct?	

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 1, 2 and 3
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	 4-	gky gh esa jkT;lHkk ds lHkkifr dk fuokZpu laiUUk 
gqvk] fuokZpu ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 Hkkjrh; lafo/ku ds vuqPNsn&64 ds vuqlkj] 
mijk"Vªifr jkT;lHkk dk insu lHkkifr gksxkA 

	 2-	 mijk"Vªifr ds fuokZpd eaMy esa laln ds nksuksa 
lnuksa ds fuokZfpr vkSj euksuhr nksuksa lnL; 'kkfey 
gksrs gSaA 

	 3.	 jkT;lHkk ds lHkkifr dk;Z ea=k.kk lfefr] fu;e 
lfefr vkSj lkekU; iz;kstu lfefr ds vè;{k 
gksrs gSaA

	 	mi;qZDr dFkuksas esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 5-	cgqjkT;h; lgdkjh lfefr;ksa ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 bUgsa lu~ 2000 esa vf/fu;fer fd;k x;k FkkA
	 2-	 bldk mn~ns'; ikjnf'kZrk] mÙkjnkf;Ro c<+kuk] bZt 

vkWiQ Mwbax fctusl esa lq/kj djuk vkSj csgrj 
foÙkh; vuq'kklu dks c<+kok nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	 6-	jk"Vªh; [kk| lqj{kk vf/fu;e ls lacaf/r fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 dsanz ljdkj us jk"Vªh; [kk| lqj{kk vf/fu;e ds 
ykHkkfFkZ;ksa dks iz/kuea=kh xjhc dY;k.k vUUk ;kstuk 
(PMGKAY) ds rgr izfr ekg 5 fdyks eqÝr 
[kk|kUUk forj.k dks can dj fn;k gSA

	 2-	 jk"Vªh; [kk| lqj{kk vf/fu;e (NFSA) ds 80 
djksM+ ykHkkfFkZ;ksa dks ^ou us'ku ou jk'ku dkMZ* 
ds rgr tksM+k x;k gSA

	 3.	 ^ou us'ku ou jk'ku dkMZ* ;kstuk dks 2021 esa 
'kq: fd;k x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 7-	fuEufyf[kr esa ls fdl jkT;@dsanz'kkflr izns'k esa] flracj 
2015 esa [kk|kUUk ds cnys udn gLrkarj.k 'kq: fd;k 
x;k\

	 (a)	 gfj;k.kk	 (b)	 paMhx<+
	 (c)	 dukZVd	 (d)	 fnYyh

	 4.	 Recently the election of the Chairman of The Rajya 
Sabha was completed, consider the following 
statements regarding the election:

	 1.	 According to Article 64 of the Indian 
Constitution, the Vice President shall be the 
ex-officio Chairman of the Rajya Sabha. 

	 2.	 The electoral college of the Vice President 
consists of both elected and nominated 
members of both houses of Parliament. 

	 3.	 The Chairman of the Rajya Sabha is 
the Chairman of the Business Advisory 
Committee, the Rules Committee and the 
General Purpose Committee.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 5.	 With reference to multi-state cooperative societies, 

consider the following statements:
	 1.	 They were enacted in 2000.
	 2.	 It aims to increase transparency, accountability, 

improve ease of doing business and promote 
better financial discipline.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 6.	 Consider the following statements related to the 

National Food Security Act:
	 1.	 The central government has discontinued 

the distribution of 5 kg of free food grains 
per month under the Pradhan Mantri Garib 
Kalyan Anna Yojana (PMGKAY) to the 
beneficiaries of the National Food Security 
Act.

	 2.	 80 crore beneficiaries of National Food 
Security Act (NFSA) have been linked under 
'One Nation One Ration Card'.

	 3.	 The 'One Nation One Ration Card' scheme 
was launched in 2021. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 7.	 In which of the following states/UTs, cash transfer 

for food grains was launched in September 2015?
	 (a)	 Haryana	 (b)	 Chandigarh
	 (a)	 Karnataka	 (d)	 Delhi
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	 8-	ldy ?kjsyw mRikn (GDP) rFkk ldy ewY;o¼Zu (GVA) 
ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ldy ewY;o¼Zu MsVk pkyw foÙk o"kZ (2022-23) 
dh nwljh frekgh (Q2) esa fofuekZ.k {ks=k esa ladqpu 
dks n'kkZrk gSA 

	 2-	 ldy ?kjsyw mRikn ds lanHkZ esa] o`f¼ dk lcls 
cM+k batu ^futh miHkksx O;;* gSA

	 3-	 thMhih o"kZ&nj&o"kZ vk/kj ij nwljh frekgh esa 
6.3% dh nj ls c<+k gS rFkk thoh, esa o"kZ&nj&o"kZ 
vk/kj ij 5.6% o`f¼ gqbZA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	 9-	iz/kuea=kh eqnzk ;kstuk ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 bl ;kstuk dh 'kq#vkr 8 vizSy] 2015 dks 
xSj&dkWiksZjsV] xSj&Ñf"k] y?kq vkSj lq{e m|eksa dks 
`10 yk[k rd dk Í.k iznku djus ds fy;s dh 
xbZA

	 2-	 blds rgr fd'kksj Í.k (`5 yk[k ls `10 yk[k 
rd) iznku fd;k tkrk gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	10-	varjkZ"Vªh; mÙkj&nf{k.k ifjogu xfy;kjs ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr blds laLFkkid lnL;ksa esa ls ,d gSA
	 2-	 ;g ,d 7200 fdeh- yack eYVhekWMy ifjogu 

usVodZ gS ftlesa leqnz] lM+d vkSj jsyekxZ 
'kkfey gSaA 

	 3-	 ;g fgan egklkxj dks Hkweè; lkxj o dkyklkxj 
ls gksrs gq, :l vkSj mÙkjh ;wjksi ls tksM+rk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	
	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	11-	gky gh esa Hkkjr rFkk eè; ,f'k;k ds ik¡p ns'kksa ds chp 
igys jk"Vªh; lqj{kk lykgdkj Lrj dh cSBd dk vk;kstu 
dgk¡ fd;k x;k\ 

	 (a)	 nq'kkacs	 (b)	 v'  + dkckn
	 (c)	 ubZ fnYYkh	 (d)	 vLrkuk

	 8.	 With reference to Gross Domestic Product (GDP) 
and Gross Value Added (GVA), consider the 
following statements:

	 1.	 The Gross Value Added Data shows the 
contraction in the manufacturing sector in the 
second quarter (Q2) of the current financial 
year (2022-23). 

	 2.	 In terms of GDP, the biggest engine of growth 
is 'private consumption expenditure'.

	 3.	 GDP grew at 6.3% in Q2 on a year-on-year 
basis and GVA grew by 5.6% on a year-on-
year basis.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 9.	 With reference to Pradhan Mantri Mudra Yojana, 

consider the following statements:
	 1.	 The scheme was launched on April 8, 2015 to 

provide loans up to ̀ 10 lakh to non-corporate, 
non-agricultural, small and micro enterprises.

	 2.	 Under this, adolescent loans (from ̀ 5 lakh to 
`10 lakh) are provided. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 10.	 With reference to International North-South 

Transport Corridor, consider the following 
statements:

	 1. 	 India is one of its founding members.
	 2.	 It is a 7200 km long multimodal transport 

network consisting of sea, road and 
railroads.	

	 3.	  It connects the Indian Ocean to Russia and 
Northern Europe through the Mediterranean 
Sea and the Black Sea.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	
	 (b)	 1 and 2 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 11.	 Where was the first National Security Advisor level 

meeting between India and five central Asian 
countries held recently? 

	 (a)	 Dushanbe	 (b)	 Ashkabad
	 (c)	 New Delhi	 (d)	 Astana
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	12-	gky&gh esa v#.kkpy izns'k ds rokax lsDVj esa Hkkjr 
vkSj phuh lSfudksa ds >M+i ds ckn nksuksa ns'k ds chp 
17osa dksj&dekaMjh; Lrj dh okrkZ dk vk;kstu dgk¡ 
fd;k x;k\

	 (a)	 pq'kqy&eksYnks	
	 (b)	 xksxjk&gkWV fLizax
	 (c)	 fdfcFkq fefyVªh dSai
	 (d)	 rokax fefyVªh dSai

	13-	^oSf'od U;wure dj (GMT)* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g fo'o Hkj esa ifjHkkf"kr dkWjiksjsV vk; vk/kj 
ij ,d ekud U;wure dj nj ykxw djus dk 
izko/ku djrk gSA 

	 2-	 GMT ds <k¡ps dk mn~ns'; de dj njksa dks ysdj 
jk"Vªksa ds chp dj izfrLi/kZ dks grksRlkfgr djuk gSA

	 3-	 ;g U;wure 15% dj dk izko/ku djrs gq, dj 
izfrLi/kZ ij ,d vk/kj dk fu/kZj.k djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	14-	dqjhy }hiksa dks ysdj fuEufyf[kr esa ls fdu nks 	
ns'kksa ds eè; fookn jgk gS\

	 (a)	 phu&nf{k.k dksfj;k	 (b)	 phu&:l
	 (c)	 tkiku&phu	 (d)	 tkiku&:l

	15-	ljisQl okVj ,aM vks'ku VksiksxzkiQh (SWOT) fe'ku ds 
lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g uklk (NASA) vkSj Hkkjrh; varfj{k ,tsalh ds 
eè; ,d lg;ksxkRed igy gSA 

	 2-	 ;g fe'ku] i`Foh dh lrg ij ued vkSj rkts 
ikuh ds Lrj laca/h vk¡dM+s iznku djsxkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	16-	Mh,u, fiQaxjfizafVax ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 bldk mi;ksx djds fdlh O;fDRk dh laHkkfor 
igpku fu/kZfjr dh tk ldrh gSA

	 2-	 bldk fodkl o"kZ 1984 esa ;w,l, esa fofy;e 
tksUl ds }kjk fd;k x;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	
	 (d)	 u rks 1] u gh 2

	 12.	 Where was the 17th Corps-Commanderial level 
talks between India and China held after the recent 
clash between Indian and Chinese troops in 
Tawang sector of Arunachal Pradesh?

	 (a)	 Chushul-Moldo
	 (b)	 Gogra-Hot Spring
	 (c)	 Kibithu Military Camp
	 (d)	 Tawang Military Camp		
	 13.	 With reference to 'Global Minimum Tax (GMT)’, 

consider the following statements:
	 1.	 It provides for imposition of a standard 

minimum tax rate on corporate income basis 
defined worldwide. 

	 2.	 The framework of GMT aims to discourage 
tax competition among nations over low tax 
rates.

	 3.	 It sets a base on tax competition while 
providing for a minimum tax of 15%.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 14.	 Which of the following two countries has a dispute 

over the Kuril Islands?
	 (a)	 China-South Korea	 (b)	 China-Russia
	 (c)	 Japan-China	 (d)	 Japan-Russia
	 15.	 With reference to Surface Water and Ocean 

Topography (SWOT) mission, consider the 
following statements:

	 1.	  It is a collaborative initiative between NASA 
and the Indian space agency. 

	 2.	 The mission will provide data on salt and fresh 
water levels on the earth's surface. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 16.	 With reference to DNA fingerprinting, consider 

the following statements:
	 1.	 Using it, the potential identity of a person can 

be determined.
	 2.	 It was developed by William Jones in the USA 

in the year 1984. 
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
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	17-	fuEufyf[kr esa ls fdls Hkkjr esa Mh,u, fiQaxjfizafVax dk 
tud dgk tkrk gSA 

	 (a)	 gjxksfoan [kqjkuk	
	 (b)	 MkW es?kukn lkgk
	 (c)	 txnh'k panz cksl
	 (d)	 ykyth flag

	18-	gky gh esa ppkZ esa jgk ^csl ,fMfVax* fuEufyf[kr esa 
ls fdlls lacaf/r gS\

	 (a)	 cksu dSalj ds mipkj	
	 (b)	 izksLVsV dSalj ds mipkj 
	 (c)	 CyM dSalj ds mipkj	
	 (d)	 czsLV dSalj ds mipkj 

	19-	,D;wV fyEiQksCykfLVd Y;wdsfe;k ds lanHkZ es a] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g [kwu vkSj cksu eSjks esa gksus okyk ,d izdkj 
dk dSalj gSA 

	 2-	 ;g yM+fd;ksa dh ctk; yM+dksa dks ”;knk izHkkfor 
djrk gSA 

	 3.	 ;g lisQn jDr dksf'kdkvksa dks izHkkfor djrk gS] 
ftUgsa Vh fyEiQkslkbV vkSj FkkbekslkbV Hkh dgk 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	20-	ukfHkdh; lay;u mQtkZ ds lnaHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g Hkfo"; esa vlhe dkcZu eqDr mQtkZ dk mRiknu 
dj ldrh gSA

	 2-	 vU; ijek.kq izfrfØ;kvksa ds foijhr ;g jsfM;ks/ehZ 
dpjk mRiUUk ugha djrk gSA

	 3-	 dSfyiQksfuZ;k fLFkr ykWjsal fyojeksj us'kuy yScksjsVjh 
ds vuqla/kudrkZvksa us igyh ckj lay;u izfØ;k 
esa izToyu esa yxh mQtkZ ls vf/d mQtkZ iSnk dhA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\ 

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	21-	xSykfFk;k us'kuy ikdZ fuEufyf[kr esa ls dgk¡ fLFkr gS\

	 (a)	 vaMeku&fudksckj }hilewg
	 (b)	 rfeyukMq
	 (c)	 dsjy
	 (d)	 y{k}hi

	 17.	 Who among the following is called the father of 
DNA fingerprinting in India?

	 (a)	 Hargobind Khurana
	 (b)	 Dr Meghnad Saha
	 (c)	 Jagdish Chandra Bose
	 (d)	 Lalji Singh
	 18.	  'Base Editing', recently seen in news, is related to 

which of the following?
	 (a)	 Treatment of bone cancer
	 (b)	 Treatment of prostate cancer 
	 (c)	 Treatment of blood cancer
	 (d)	 Treatment of breast cancer
	 19.	 With reference to acute lymphoblastic leukemia, 

consider the following statements:
	 1.	 It is a type of cancer occurring in the blood 

and bone marrow. 
	 2.	 It affects boys more than girls. 
	 3.	 It affects white blood cells, also called T 

lymphocytes and thymocytes.
		  Which of the statement given above are correct?
	 (a)	 1 and 2 only	
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 20.	 With reference to nuclear fusion energy, consider 

the following statements:
	 1.	 It can produce limitless carbon free energy in 

the future.
	 2.	 Unlike other nuclear reactions it does not 

generate radioactive waste.
	 3.	 Researchers at Lawrence Livermore National 

Laboratory in California generated more 
energy than the energy used in igniting in the 
fusion process for the first time. 

		  Which of the statement given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 21.	 Galathia National Park is located in which of the 

following?
	 (a)	 Andaman and Nicobar Islands
	 (b)	 Tamil Nadu
	 (c)	 Kerala
	 (d)	 Lakshadweep



7
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	22-	la;qDr jk"Vª tSo fofo/rk lEesyu dk 15ok¡ l=k (COP-
15) ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s% 

	 1-	 bldk vk;kstu vDrwcj 2022 esa dqufeax (phu) 
esa gksuk Fkk ijarq dksfoM ds dkj.k bldk vk;kstu 
isfjl (izQk¡l) esa laiUUk gqvkA 

	 2-	 bl lEesyu esa fo'o dh de ls de 30% Hkwfe] 
varnsZ'kh; ty] rVh; {ks=kksa vkSj egklkxjksa dk izHkkoh 
laj{k.k vkSj izca/u djuk 'kkfey fd;k x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1] u gh 2

	23-	gky gh esa ppkZ esa jgs ^Øk;kses'k* rduhd ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g rduhd dksjy ykokZ ds HkaMkj.k ls lacaf/r 
rduhd gSA 

	 2-	 ;g rduhd osV ySaM tSo fofo/rk ds laj{k.k ls 
lacaf/r rduhd gSA

	 3-	 bl rduhd dk fodkl ;wfuoflZVh vkWiQ feuslksVk 
dkWyst vkWiQ lkbal ,aM bathfu;fjax (;w,l,) ds 
oSKkfudksa }kjk fd;k x;k gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	24-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 (ns'k) 		  (Hkkjrh; lafo/ku esa 
					    'kkfey izko/ku)
	 1-	 dukMk	 &	 jkT;iky dh fu;qfDr
	 2-	 vkWLVªsfy;k	 &	 laln ds nksuksa lnuksa dh la;qDr 
	 	 		 	 cSBd
	 3-	 izQk¡l	 &	 jkT;lHkk lnL;ksa dh fuokZpu 
	 	 		 	 izfØ;k
	 4-	 teZuh 	 &	 ,dy ukxfjdrk

	 	mi;qZDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	25-	Hkkjrh; lafo/ku ds mn~nsf'kdk ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ds'kokuan Hkkjrh okn esa mPPkre U;k;ky; us 
mn~nsf'kdk dks vk/kjHkwr <k¡ps dk Hkkx ekukA

	 2-	 42os a lafo/ku la'kk s/u }kjk mn~nsf'kdk es a 
^lektoknh*] ^iaFkfujis{k* rFkk ^yksdra=kkRed 
x.kjkT;* 'kCnksa dks tksM+k x;kA 

	 3.	 mn~nsf'kdk izorZuh; gSA

	 22.	 With reference to the 15th Session of the United 
Nations Convention on Biological Diversity (COP-
15), consider the following statements: 

	 1.	 It was to be held in Kunming (China) in 
October 2022 but due to Covid, it was held 
in Paris (Paris). 

	 2.	 The Convention covers effective conservation 
and management of at least 30% of the world's 
land, inland waters, coastal areas and oceans. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2
	 23.	 With reference to the recently discussed ‘Cryo-

mesh’ technique, consider the following statements:
	 1.	 This technique is a technique related to the 

storage of coral larvae. 
	 2.	 This technique is a technique related to the 

conservation of wetland biodiversity.
	 3.	 This technique has been developed by 

scientists at the University of Minnesota 
College of Science and Engineering (USA). 

		  Which of the statement given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 24.	 Consider the following pairs:
		  (Country)		�  (Provisions included in 

the Indian Constitution) 
	 1.	 Canada	 –	 Appointment of 	

			  Governor
	 2.	 Australia	 –	 Joint sitting of both 
					    Houses of Parliament
	 3.	 France	 –	 Election Process for 
					    Rajya Sabha Members
	 4.	 Germany 	 –	 Single Citizenship
		  How many of the above pairs are correctly 

matched?		
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 25.	 With reference to the Preamble of the Constitution 

of India, consider the following statements:
	 1.	 In the Kesavananda Bharati case, the Supreme 

Court considered the preamble as part of the 
basic sturcture.

	 2.	 The 42nd Constitutional Amendment added 
the words 'socialist', 'secular' and 'democratic 
republic' to the Preamble. 

	 3.	 The Preamble is enforceable.



8
lkekU; vè;;u

(General Studies)

eSx”khu VsLV

(Magazine Test)

641] çFke ry] eq[kthZ uxj] fnYyh&110009

nwjHkk"k% 8750187501, 011-47532596
bZ&esy% helpline@groupdrishti.com, osclkbV% www.drishtiIAS.com
isQlcqd% https://www.facebook.com/drishtithevisionfoundation

 Copyright –  Drishti The Vision Foundation

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	26-	ukxfjdrk (la'kks/u) vf/fu;e] 2019 ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g vf/fu;e 31 fnlacj] 2014 dks ;k mlls igys 
Hkkjr esa nkf[ky gksus okys viQxkfuLrku] ckaXykns'k 
vkSj ikfdLrku ds fganw] fl[k] ckS¼] tSu] ikjlh 
vkSj bZlkbZ yksxksa dks voS/ izoklh ugha ekurk gSA

	 2-	 voS/ izokfl;ksa ds fy;s ukxfjdrk ds izko/ku NBh 
vuqlwph esa 'kkfey jkT;ksa ds vkfnoklh {ks=kksa rFkk 
bZLVuZ izQafV;j jsxqys'ku] 1873 ds varxZr vf/lwfpr 
^buj ykbu* esa vkusokys {ks=kksa ij Hkh ykxw gksxkA 

	 	mi;qZDRk dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	27-	fuEufyf[kr esa ls lafo/ku dk dkSu&lk vuqPNsn 
U;k;ikfydk dks U;kf;d iqufoZyksdu dh 'kfDr iznku 
djrk gS\

	 (a)	 vuqPNsn 12	 (b)	 vuqPNsn 35
	 (c)	 vuqPNsn 131	 (d)	 vuqPNsn 13

	28-	Hkkjrh; lafo/ku ds }kjk iznÙk lekurk ds vf/dkj ds 
lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjrh; lafo/ku fyax ds vk/kj ij foHksn dk 
izfr"ks/ djrk gSA vr% jkT; }kjk fL=k;ksa vkSj cPPkksa 
ds fy;s fd;k x;k fo'ks"k mica/ vlaoS/kfud gSA

	 2-	 Hkkjrh; lafo/ku fuokl&LFkku ds vk/kj ij foHksn 
dk izfr"ks/ djrk gS fdarq jkT; }kjk tUe&LFkku 
ds vk/kj ij fd;k x;k foHksn voS/ ugha gksxkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	29-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 izR;kHkwr mipkj 		 O;k[;k
	 1-	 vf/dkj i`PNk	 &	 blds ekè;e ls mPPkre 
	 	 		 	 U;k;ky; fdlh v/huLFk 
	 	 		 	 U ; k ; ky; d k s  viu h 	

		 	 vf/dkfjrk dk vfrØe.k
	 	 		 	 djus ls jksdrk gSA
	 2-	 ijekns'k	 &	 blds }kjk mPPkre 	

		 	 U;k;ky; fdlh vf/dkjh 
	 	 		 	 dks vkns'k nsrh gS fd og 
	 	 		 	 vius {ks=kkf/dkj ds 
	 	 		 	 varxZr gh dk;Z djsA

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 26.	 With reference to the Citizenship (Amendment) 

Act, 2019, consider the following statements:
	 1.	 The Act does not treat Hindu, Sikh, Buddhist, 

Jain, Parsi and Christian migrants from 
Afghanistan, Bangladesh and Pakistan who 
entered India on or before December 31, 2014, 
as illegal migrants.

	 2.	 The provision of citizenship for illegal 
migrants will also apply to tribal areas of 
states included in the Sixth Schedule and areas 
falling in the 'Inner Line' notified under the 
Eastern Frantior Regulation, 1873. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 27.	 Which of the following articles of the Constitution 

empowers the judiciary to conduct judicial review?
	 (a)	 Article 12	 (b)	 Article 35
	 (c)	 Article 131	 (d)	 Article 13
	 28.	 With reference to the right to equality guaranteed 

by the Indian Constitution, consider the following 
statements:

	 1.	 The  Ind ian  Cons t i tu t ion  p roh ib i t s 
discrimination on the basis of gender. 
Therefore, the special provision made 
by the State for women and children is 
unconstitutional.

	 2.	 The  Ind ian  Cons t i tu t ion  p roh ib i t s 
discrimination on the basis of place of 
residence, but the discrimination made by the 
state on the basis of place of birth will not be 
illegal. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 29.	 Consider the following pairs:
	 	 Guaranteed remedy		  Explanation
	 1.	 Quo warranto	 -	� Through this, the 

Supreme Court 
prevents any 
subordinate court 
from encroaching 
on its jurisdiction.

	 2.	 Mandamus	 -	� By this, the 
Supreme Court 
orders an officer 
to act within its 
jurisdiction.
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	 3-	 mRizs"k.k	 &	 mPPkre U;k;ky; }kjk 
	 	 		 	 voS/kfud :i ls fdlh 
	 	 		 	 lkoZtfud in ij vklhu 
	 	 		 	 O;fDr ds fo#¼ tkjh 
	 	 		 	 fd;k tkrk gSA

	 	mi;qZDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 lHkh rhuksa ;qXe	 (d)	 dksbZ Hkh ;qXe ugha

	30-	jkT; dh uhfr ds funs'kd rÙoksa ds lanHkZ esa] fuEufyf[kr  
dFkuksa ij fopkj dhft;s%

	 1-	 vuqPNsn 39 (d) leku volj ds vk/kj ij 
U;k; nsus o fu%'kqYd fof/d lgk;rk miyC/ 
djkus dh ckr djrk gSA

	 2-	 vuqPNsn 43(d) m|ksxksa ds izca/u esa deZdkjksa ds 
Hkkx ysus ds fy;s mi;qDr fo/ku cukus dh ckr 
djrk gSA 

	 3-	 vuqPNsn 43([k) lgdkjh lfefr;ksa ds LoSfPNd 
xBu] Lok;Ùk izpkyu] yksdrkaf=kd fu;a=k.k rFkk 
is'ksoj izca/u dks izksRlkfgr djus dh ckr djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls dFku 42osa lafo/ku 
(la'kks/u) vf/fu;e] 1976 }kjk tksM+k x;k@tksM+s x, 
gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 2
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	31-	ewy dÙkZO;ksa ds lanHkZ esa] fuEufyf[kr dFku ij fopkj 
dhft;s%

	 1-	 ewy dÙkZO;ksa dks ̂ Lo.kZ flag lfefr* dh fliQkfj'kksa 
ds vk/kj ij 42osa lafo/ku (la'kks/u) vf/fu;e] 
1976 }kjk lafo/ku esa tksM+k x;kA

	 2-	 ewy dÙkZO;ksa dks Hkkx IV esa vuqPNsn 51(d) ds 
:i esa var%LFkkfir fd;k x;k gSA  

	 3-	 orZeku esa vuqPNsn 51(d) ds vuqlkj Hkkjrh; 
ukxfjdksa ds 11 ewy dÙkZO; gSaaA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	32-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 ohVks		 O;k[;k
	 1-	 vkR;afrd ohVks	 &	 ,slk ohVks tks fo/kf;dk 
	 	 		 	 }kjk ikfjr fo/s;d dks iwjh 
	 	 		 	 rjg [kkfjt dj ldrk gSA
	 2-	 fo'ksf"kr ohVks	 &	 ,slk ohVks ftls ,d fo'ks"k 
	 	 		 	 cgqer ls fo/kf;dk }kjk 
	 	 		 	 [kkfjt fd;k tk ldrk gSA

	 3.	 Certiorari	 -	� Issued by the 
Supreme Court 
against a person 
illegally holding a 
public office.

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 All three pairs	 (d)	 None of the pairs
	 30.	 With reference to the Directive Principles of State 

Policy, consider the following statements:
	 1.	 Article 39  (a) 	talks about giving justice on 

the basis of equal opportunity and providing 
free legal aid.

	 2.	 Article 43 (a) 	talks about making suitable 
legislation for the participation of workers in 
the management of industries.

	 3.	 Article 43 (b) 	ta lks about  encouraging 
voluntary formation, autonomous operation, 
democratic control and professional 
management of cooperatives.

		  Which of the above statement(s) was/were added 
by the 42nd Constitution (Amendment) Act, 1976?

	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 31.	 With reference to the Fundamental duties, consider 

the following statements:
	 1.	 The Fundamental Duties were added to 

the Constitution by the 42nd Constitution 
(Amendment) Act, 1976 based on the 
recommendations of the 'Swaran Singh 
Committee'.

	 2.	 The Fundamental Duties have been inserted 
in Part IV as Article 51(A).

	 3.	 At present there are 11 fundamental duties of 
Indian citizens as per Article 51(A).

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 32.	 Consider the following pairs:
		      Veto		  Explanation 
	 1.	 Absolute veto	 -	� A veto that can 

completely reject a 
bill passed by the 
legislature.

	 2.	 Special Veto	 -	� A veto that can 
be overridden by 
the legislature by a 
special majority.
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	 3-	 tsch ohVks	 &	 dk;Zikfydk ds izeq[k }kjk 
	 	 		 	 fo/s;d ij LohÑfr ;k 
	 	 		 	 vLohÑfr izfrfØ;k dh 
	 	 		 	 ctk; mls vius&ikl iM+s 
	 	 		 	 jgus nsukA 

	 	mi;qZDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 lHkh rhuksa ;qXe	 (d)	 dksbZ Hkh ;qXe ugha 

	33-	Hkkjr ds jk"Vªifr ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 Hkkjr dk jk"Vªifr gksus ds fy;s tUe ls Hkkjr dk 
ukxfjd gksuk vko';d gSA

	 2-	 jk"Vªifr ds fuokZpu ls lacaf/r fdlh fo"k; dk 
fofu;eu laln fof/ }kjk djsxhA

	 3.	 /u fo/s;d ij jk"Vªifr dks vfuok;Zr% vuqefr 
nsuh gksrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	34-	Hkkjr ds dsanzh; eaf=kifj"kn ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjrh; lafo/ku ds vuqPNsn&74(1) esa jk"Vªifr 
dh lykg ds fy;s eaf=kifj"kn dk mica/ fd;k 
x;k gSA 

	 2-	 ^eaf=keaMy* 'kCn dks 42 osa lafo/ku la'kks/u] 1976 
}kjk vuqPNsn&352 esa 'kkfey fd;k x;k gSA

	 3-	 ea=kh O;fDrxr :i ls dk;Zikfydk ds izeq[k jk"Vªifr 
ds izfr mÙkjnk;h gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2 	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	35-	fuEufyf[kr esa ls dkSu Hkkjr ljdkj dk loksZPPk fof/ 
vf/dkjh gksrk gS\

	 (a)	 Hkkjr dk egkf/oDrk
	 (b)	 ckj dkmafly vkWiQ bafM;k dk vè;{k
	 (c)	 Hkkjr dk vij egkf/OkDrk 
	 (d)	 Hkkjr dk egkU;k;oknh

	36-	jkT;lHkk esa ^Lka?k jkT; {ks=kksa* ds izfrfuf/Ro ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 jkT;lHkk esa la?k jkT; {ks=kksa ds izfrfuf/;ksa ds 
pquko dh izfØ;k ds fu/kZj.k dk vf/dkj mPPkre 
U;k;ky; dks gSA

	 2-	 jkT;lHkk esa dsoy tEew&d'ehj vkSj fnYyh la?k  
jkT; {ks=kksa dks gh lhV vkoafVr gSA

	 3.	 Pocket Veto	 -	� Allowing the head 
of the executive to 
languish on a bill 
instead of reacting 
to it with approval 
or disapproval.

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 All three pairs	 (d)	 None of the pairs 
	 33.	 With reference to the President of India, consider 

the following statements:
	 1.	 To be the President of India, it is necessary to 

be a citizen of India by birth.
	 2.	 Parliament shall by law regulate any matter 

relating to the election of the President.
	 3.	 The President has to give assent to the Money 

Bill.
		  Which of the statementa given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 34.	 With reference to the Union Council of Ministers 

of India, consider the following statements:
	 1.	 Article 74(1) of the Indian Constitution 

provides for a Council of Ministers for the 
advice of the President. 

	 2.	 The word 'Cabinet' was included in Article 
352 by the 42nd Constitutional Amendment, 
1976.

	 3.	 The minister is individually responsible to the 
President, the head of the executive.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 35.	 Who among the following is the supreme law 

officer of the Government of India?
	 (a)	 Advocate General of India
	 (b)	 Chairman of the Bar Council of India
	 (c)	 Additional Advocate General of India 
	 (d)	 Attorney General of India
	 36.	 Consider the following statements regarding 

representation of 'Union Territories' in Rajya 
Sabha:

	 1.	 The Supreme Court has the power to 
determine the procedure for the election of 
representatives of union territories in the 
Rajya Sabha.

	 2.	 In the Rajya Sabha, only the Union Territories 
of Jammu and Kashmir and Delhi are allotted 
seats.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	37-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 	lalnh; 'kCnkoyh		 O;k[;k

	 1-	 	LFkxu	 &	 laln ds fdlh l=k dk 

	 	 		 	 lekIr gksukA

	 2-	 xSj&ljdkjh fo/s;d	&	 foi{k ds fdlh lnL; 

	 	 		 	 }kjk izLrqr fo/s;d 

	 3-	 iz'udky	 &	 laln ds dk;Zfnol dk 

	 	 		 	 igyk ?kaVkA 

	 4-	 lekiu izLrko	 &	 bl izLrko dk mn~ns'; 

	 	 		 	 lnu esa py jgh ppkZ 

	 	 		 	 dks chp esa gh jksduk 

	 	 		 	 gksrk gSA

	 	miq;ZDr&;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe

	 (c)	 dsoy rhu ;qXe	 (d)	 lHkh pkjksa ;qXe

	38-	/u fo/s;d ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 /u fo/s;d dsoy ljdkjh fo/s;d gh gks 

ldrs gSaA 

	 2-	 Hkkjr ljdkj }kjk /u m/kj ysus ls lacaf/r fof/ 

dk la'kks/u ;k fofu;eu] /u fo/s;d ds varXkZr 

vkrk gSA

	 3-	 dksbZ fo/s;d /u fo/s;d gS ;k ugha bl laca/ esa 

mPPkre U;k;ky; dk fu.kZ; vafre ekuk tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	39-	Hkkjrh; laln ds nksuksa lnuksa dh la;qDr cSBd ds lanHkZ 

esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 la;qDr cSBd dh dk;Zokgh yksdlHkk ds fu;eksa ds 

vuqlkj lapkfyr gksrh gSA

	 2-	 la;qDr cSBd dh dk;Zokfg;ksa dk lapkyu rFkk 

mldh vè;{krk jkT;lHkk dk lHkkifr djrk gS 

tks fd Hkkjr dk mijk"Vªifr gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 37.	 Consider the following pairs:
		  Parliamentary		  Explanation	

terminology
	 1.	 Adjournment	 -	� Te rmina t ion  o f 

any  s e s s ion  o f 
Parliament.

	 2.	 Private Member's Bill	-	� Bill presented by 
a member of the 
opposition

	 3.	 Question Hour	 -	� The first hour of the 
working day of the 
Parliament.

	 4.	 Motion of closure	 -	� The purpose of this 
motion is to stop the 
discussion going 
on in the House 
midway.

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 38.	 With reference to the Money Bill, consider the 

following statements:
	 1.	 Money Bills can only be Government Bills. 
	 2.	 The amendment or regulation of the law 

relating to borrowing of money by the 
Government of India comes under the Money 
Bill.

	 3.	 The decision of the Supreme Court on whether 
a Bill is a Money Bill or not is considered 
final.

		  Which of the statement(s) given above is/are not 
correct?		

	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 3 only	 (d)	 1, 2 and 3
	 39.	 With reference to the joint sitting of both houses 

of the Indian Parliament, consider the following 
statements:

	 1.	 The proceedings of the joint meeting are 
conducted as per the rules of the Lok Sabha.

	 2.	 The proceedings of the joint sitting are 
conducted and presided over by the Chairman 
of the Rajya Sabha, who is the Vice President 
of India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
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	40-	loksZPPk U;k;ky; ds {ks=kkf/dkj rFkk 'kfDr;ksa ds lanHkZ 
esa] fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ewy ;k vkjafHkd {ks=kkf/dkj ds varxZr os ekeys 
vkrs gSa ftudh lquokbZ dsoy mPPkre U;k;ky; 
esa gh gks ldrh gSA

	 2-	 loksZPPk U;k;ky; vkijkf/d rFkk flfoy lHkh 
rjg ds ekeyksa esa vihy dk vafre U;k;ky; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	41-	vfHkys[k U;k;ky; ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 vfHkys[k U;k;ky; dh 'kfDr dsoy mPPkre 
U;k;ky; ds ikl gh gSA

	 2-	 mPPkre U;k;ky; ds lHkh fu.kZ;] vkns'k rFkk 
funsZ'k vkfn LFkk;h Le`fr esa lqjf{kr j[ks tkrs gSa 
rkfd lHkh v/huLFk U;k;ky; mUgsa iwoZ&mnkgj.kksa 
ds :i esa izLrqr dj ldsaA 

	 3-	 mPPkre U;k;ky; vfHkys[k U;k;ky; blfy;s Hkh 
gS fd mls vius voekuuk ds fy;s naM nsus dh 
'kfDr izkIr gSA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	42-	vf/dj.kksa ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ewy lafo/ku esa vf/dj.kksa ls lacaf/r dksbZ 	
izko/ku ugha FkkA 

	 2-	 42osa lafo/ku (la'kks/u) vf/fu;e] 1976 ds 
}kjk lafo/ku esa vf/dj.k uke ls ,d u;k Hkkx 
XIV (d) tksM+k x;kA  

	 3-	 lHkh U;k;ky; vf/dj.k gksrs gSa] fdarq lHkh 	
vf/dj.k U;k;ky; ugha gksrsA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

	43-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (mPPk U;k;ky;)		 ({ks=kkf/dkj)
	 1-	 enzkl mPPk U;k;ky;	 &	y{k}hi] rfeyukMq
	 2-	 xqokgkVh mPPk U;k;ky;	&	v#.kkpy izns'k] 
	 	 		 	vle] ukxkySaM
	 3-	 dydÙkk mPPk U;k;ky;	&	if'pe caxky] 
	 	 		 	vaMeku&fudksckj }hi 	

		 	lewg] flfDde

	 40.	 With reference to the jurisdiction and powers of 
the Supreme Court, consider the following 
statements:

	 1.	 The original or preliminary jurisdiction covers 
cases which can be heard only in the Supreme 
Court.	

	 2.	 The Supreme Court is the final court of appeal 
in all criminal and civil cases.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 41.	 With reference to the Court of Records, consider 

the following statements:
	 1.	 The power of the Court of Records lies only 

with the Supreme Court.
	 2.	 All the judgments, orders and directions etc. 

of the Supreme Court are preserved in the 
permanent memory so that all the subordinate 
courts can present them as precedents.

	 3.	 The Supreme Court is a court of record also 
because it has the power to punish for its 
contempt. 

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 42.	 With reference to tribunals, consider the following 

statements:
	 1.	 There was no provision relating to tribunals 

in the original Constitution. 
	 2.	 A new part XIV 	 (a)	 w a s  a d d e d  t o 

the Constitution by the 42nd Constitution 
(Amendment) Act, 1976.  

	 3.	 All courts are tribunals, but not all tribunals 
are courts. 

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 43.	 Consider the following pairs:
		  (High Court)		  (Jurisdiction)
	 1.	 Madras High Court	 -	 Lakshadweep, Tamil 
					    Nadu
	 2.	 Gauhati High Court	 -	 Arunachal Pradesh, 
					    Assam, Nagaland
	 3.	 Calcutta High Court	 -	 West Bengal, 
					    Andaman and 
					    Nicobar Islands, 
					    Sikkim
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	 	mi;qZDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	
	 (d)	 lHkh rhuksa ;qXe

	44-	ny ifjorZu dkuwu ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 bls 52 osa lafo/ku (la'kks/u) vf/fu;e] 1985 
ds ekè;e ls izLrqr fd;k x;k FkkA 

	 2-	 ihBklhu vf/dkjh ds ikl ny&cny ds fl¼ 
gksus ds vk/kj ij fdlh lnL; dks v;ksX; ?kksf"kr 
djus dk vf/dkj gksrk gSA 

	 3-	 ,d&frgkbZ lnL;ksa }kjk fdlh vU; ny esa fd;k 
x;k ^foYk;* ny&cny ugha dgk tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	45-	jkT;iky dh foosdk/hu 'kfDr;ksa ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 jkT; esa jk"Vªifr 'kklu dh fliQkfj'k djukA 
	 2-	 jk"Vªifr ds fopkjkFkZ fdlh fo/s;d dks vkjf{kr 

djukA 
	 3-	 NBh vuqlwph ds jkT;ksa ds jkT;iky }kjk [kfut 

mRiknu dh jkW;YVh ds :i esa tu”kkrh; ftyk 
ifj"kn dks ns; jkf'k dk fu/kZj.k vkfn djukA 

	 4-	 jkT; fo/kulHkk esa fo'okl er gkfly u djus 
ij eaf=kifj"kn dh c[kkZLrxh ds ekeys esaA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 1] 2 vkSj 3	 (d)	 1] 2] 3 vkSj 4

	46-	fo/kuifj"kn ds lnL;ksa ds fuokZpu ds lanHkZ esa]
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fdlh jkT; esa fo/kuifj"kn ds lnL;ksa dh la[;k] 
ml jkT; ds fo/kulHkk lnL;ksa dh dqy la[;k 
dk 1/3 rFkk 40 ls de ugha gksuk pkfg;sA 

	 2-	 fo/kuifj"kn ds dqy lnL; la[;k dk 1@6 lnL; 
ml jkT; ds jkT;iky }kjk euksuhr fd;s tkrs gSaA

	 3-	 fo/kuifj"kn ds dqy lnL; la[;k dk 1@3 lnL; 
ml jkT; ds fo/kulHkk lnL;ksa }kjk pqus tkrs gSaA 

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	 1] 2 vkSj 3

		  How many of the above pairs are correctly 
matched?

	 (a)	 None of the pairs
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All three pairs
	 44.	 With reference to the defection law, consider the 

following statements:
	 1.	 It was introduced through the 52nd Constitution 

(Amendment) Act, 1985. 
	 2.	 The Presiding Officer has the power to 

disqualify a member on the basis of proving 
defection. 

	 3.	 A 'merger' by one-third of the members into 
another party is not called defection.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 45.	 With reference to the discretionary powers of the 

Governor, consider the following statements:
	 1.	 Recommend president's rule in the state. 
	 2.	 To reserve a Bill for the consideration of the 

President. 
	 3.	 Determination of the amount payable by the 

Governor of the Sixth Schedule states to the 
Tribal Zilla Parishad as royalty on mineral 
production, etc.

	 4.	 In the matter of dismissal of the Council of 
Ministers for not securing a vote of confidence 
in the State Assembly.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (d)	 1, 2 and 3	 (d)	 1, 2, 3 and 4
	 46.	 With reference to the election of members of the 

Legislative Council, consider the following 
statements:

	 1.	 The number of members of the Legislative 
Council in a State should not be less than 1/3 
of the total number of Legislative Members 
of that State and not less than 40. 

	 2.	 1/6th of the total number of members of the 
Legislative Council are nominated by the 
Governor of that State.

	 3.	 1/3rd of the total number of members of 
the Legislative Council are elected by the 
Members of the Legislative Assembly of that 
State. 

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
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	47-	islk (PESA) vf/fu;e ds lanHkZ esa] fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g vf/fu;e mu jkT;ksa ij ykxw gksrk gS ftuesa 
5oha vuqlwph ds rgr vuqlwfpr {ks=k fo|eku gSaA 

	 2-	 ;g vf/fu;e vkfnoklh leqnk;ksa] vuqlwfpr {ks=k 
ds fuokfl;ksa ds vf/dkj dks Lo'kklu dh viuh 
iz.kkfy;ksa ds ekè;e ls Lo;a dks 'kkflr djus ds 
vf/dkj dks ekU;rk nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	48-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (lafo/ku la'kks/u)		 (izko/ku)
	 1-	 103ok¡ lafo/ku la'kks/u	&	vkfFkZd :i ls detksj 
	 	 	vf/fu;e	 	oxZ ds fy;s ukSdfj;ksa 	

		 	vkSj nkf[kys esa 10% 
					    vkj{k.k dh O;oLFkkA 
	 2-	 104ok¡ lafo/ku la'kks/u	&	jk"Vªh; fiNM+k oxZ 
	 	 	vf/fu;e	 	vk;ksx dks laoS/kfud 
	 	 		 	ntkZ fn;k x;kA
	 3-	 101ok¡ lafo/ku la'kks/u	&	oLrq ,oa lsok dj 
	 	 	vf/fu;e	 	vf/fu;eA

	 	mi;qZDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	 dsoy nks ;qXe
	 (c)	 lHkh rhuksa ;qXe	 (d)	 dksbZ Hkh ;qXe ugha 

	49-	fuEufyf[kr esa ls fdl izko/ku esa la'kks/u ds fy;s 
fo'ks"k cgqer dh vko';drk gksrh gS\

	 (a)	 ekSfyd vf/dkjksa ds la'kks/u esa 
	 (b)	 u, jkT;ksa ds fuekZ.k esa 
	 (c)	 jkT; esa fo/ku ifj"knksa ds mUewyu ds fy;s 
	 (d)	 lalnh; fu;eksa vkSj izfØ;kvksa esa cnyko ds fy;s 

	50-	fuEufyf[kr esa ls dkSu&lh lfefr iapk;rh jkt ds xBu 
ls lacaf/r lfefr ugha gS\

	 (a)	 v'kksd esgrk lfefr	
	 (b)	 th-oh-ds- jko lfefr
	 (c)	 ljdkfj;k lfefr 
	 (d)	 y{ehey fla?koh lfefr

	51-	izoky fHkfÙk ;k ewaxk pV~Vkuksa ds lanHkZ esa] fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 izoky ,d pwuk iz/ku tho gS tks eq[;r% dBksj 
jpuk okys [kksy gksrs gSa ftlesa eqyk;e tho 
jgrs gSaA

	 2.	 ;s tho twtSafFkyh uked NksVs 'kSokyksa tSls lthoksa 
ds lkFk lgthoh laca/ cukdj jgrs gSaA 

	 47.	 With reference to PESA  Act, consider the 
following statements:

	 1.	 This Act applies to those states in which there 
are Scheduled Areas under the 5th Schedule. 

	 2.	 The Act recognizes the right of tribal 
communities, residents of the Scheduled 
Areas, to govern themselves through their 
own systems of self-governance.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 48.	 Consider the following pairs:
		  (Constitutional		  (Provision)	

Amendment)
	 1.	 103rd Constitutional	 -	 10% reservation in
		  Amendment		�  jobs and admissions 

for economically 
weaker sections. 

	 2.	 104th Constitutional	 -	 The National 
		  Amendment		�  Commission for 

Backward Classes 
Act was given 
constitutional 
status.

	 3.	 101st Constitutional	 -	 Goods and Services
		  Amendment		  Tax Act.
		  How many of the above pairs are correctly 

matched?
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 All three pairs	 (d)	 None of the pairs
	 49.	 Which of the following provision requires a special 

majority for amendment?
	 (a)	 Amendment of Fundamental Rights 
	 (b)	 Creation of new states 
	 (c)	 Abolition of Legislative Councils in the State 
	 (d)	 Changes in parliamentary rules and procedures 
	 50.	 Which of the following committee is not a 

committee related to the formation of Panchayati 
Raj?

	 (a)	 Ashok Mehta Committee
	 (b)	 G.V.K. Rao Committee
	 (c)	 Sarkaria Committee
	 (d)	 Laxmimal Singhvi Committee
	 51.	 With reference to coral reefs, consider the 

following statements:
	 1.	 Coral is a lime-rich organism with a 

mainly hard-structured shell containing soft 
organisms.

	 2.	 These organisms form symbiotic relationships 
with living organisms such as small algae 
called zooxanthellae. 
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	 3.	 ;s leqnzh ikfjra=k esa ,d dhLVksu iztkfr ekuh tkrh 
gSa rFkk bUgsa leqnz dk o"kkZou Hkh dgk tkrk gSA

		  mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\ 
	 (a)	 dsoy 1 vkSj 2	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	52-	fuEufyf[kr esa ls fdl okn esa mPPkre U;k;ky; us 
dgk fd ¶ukSoha vuqlwph ds rgr j[ks x, dkuwuksa dks 
ekSfyd vf/dkjksa ds mYya?ku ds vk/kj ij pqukSrh ugha 
nh tk ldrh] ijarq mUgsa lafo/ku ds ewy <k¡ps ds 
mYya?ku ds vk/kj ij pqukSrh nh tk ldrh gSA¸

	 (a)	 ds'kokuan Hkkjrh cuke dsjy jkT; 
	 (b)	 okeujko cuke Hkkjr la?k
	 (c)	 vkbZvkj dksYgks cuke rfeyUkkMq jkT;
	 (d)	 xksydukFk cuke iatkc jkT; 

	53-	vUrjkZT;h; ifj"kn ds lanHkZ esa] fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 dksBkjh vk;ksx us vuqPNsn&263 ds izko/kuksa ds 
vk/kj ij jkT;ksa ds chp fooknksa ds lek/ku ds 
fy;s ,d varjkZT;h; ifj"kn LFkkfir fd;s tkus dh 
fliQkfj'k dh FkhA 

	 2.	 vUrjkZT;h; ifj"kn dk vè;{k Hkkjr dk x`g 
ea=kh gksrk gS rFkk lHkh jkT;ksa ds eq[;ea=kh vkSj 	
fo/kulHkk okys la?k 'kkflr izns'kksa ds eq[;ea=kh 
o fo/kulHkk ugha j[kusokys la?k 'kkflr izns'kksa ds 
iz'kkld blds lnL; gksrs gSaA

	 3.	 orZeku esa iz/kuea=kh }kjk 6 dsanzh; ea=kh LFkk;h 
vkeaf=kr lnL; ds :i esa euksuhr fd;s tkrs gSaA 

		  mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	 dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	54-	bZ&Je iksVZy dks dc ykWUp fd;k x;k Fkk\
	 (a)	 26 vxLr] 2021	 (b)	 10 tqykbZ] 2020
	 (c)	 26 tqykbZ] 2019	 (d)	 26 vDVwcj] 2022

	55-	gky gh esa izLrkfor us'kuy gkbZos NH-913 dks fdl 
jkT; ds lhekorhZ {ks=k esa cuk;k tk,xk\

	 (a)	 ukxkySaM 	
	 (b)	 ef.kiqj
	 (c)	 jktLFkku
	 (d)	 v#.kkpy izns'k

	56-	fuEufyf•r esa ls fdl :i esa dkyh e`nk ds egÙo 
dks mn~?kkfVr fd;k tk ldrk gS\

	 1-	 ok;qeaMy ls dkcZu dks gVkus esa
	 2-	 dkcZfud inkFkZ dks lafpr djus esa
	 3-	 ekuo&çsfjr tyok;q ifjorZu dks de djus esa

	 3.	 They are considered a keystone species in 
the marine ecosystem and are also called the 
rainforest of the sea.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 52.	 In which of the following cases, the Supreme Court 

held that "Laws placed under the Ninth Schedule 
cannot be challenged on the ground of violation 
of fundamental rights, but they can be challenged 
on the ground of violation of the basic structure of 
the Constitution" ''

	 (a)	 Kesavananda Bharati vs State of Kerala 
	 (b)	 VamanRao vs Union of India
	 (c)	 IR Kolho vs State of Tamil Nadu
	 (d)	 Golaknath vs State of Punjab
	 53.	 With reference to Inter-State councils, consider the 

following statements:
	 1.	 The Kothari Commission recommended for 

setting up of an inter-state council to resolve 
disputes between states on the basis of 
provisions of Article 263. 

	 2.	  The Inter-State Council is chaired by the Home 
Minister of India and is the Chief Ministers 
of all states and Chief Ministers of Union 
Territories having legislative assemblies and 
administrators of union territories that do not 
have legislative assemblies.

	 3.	 At present, 6 Union Ministers are nominated 
as permanent invitees by the Prime Minister. 

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 54.	 When was the e-Shram portal launched?
	 (a)	 August 26, 2021	 (b)	 July 10, 2020
	 (c)	 July 26, 2019	 (d)	 October 26, 2022
	 55.	 The recently proposed National Highway NH-913 

will be built in the border area of which state?
	 (a)	 Nagaland 	
	 (b)	 Manipur
	 (c)	 Rajasthan
	 (d)	 Arunachal Pradesh
	 56.	 In which of the following forms can the importance 

of black soil be highlighted? 
	 1.	 Removing carbon from the atmosphere
	 2.	 In storing organic matter
	 3.	 Mitigating human-induced climate change
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	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	57-	pØokr ds fuekZ.k ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 leqæ dh lrg dk rkieku de&ls&de 27 fMxzh 
gksuk pkfg;sA

	 2-	 cgqr vf/d ek=kk esa ok;q dk vi:i.k (Wind 
Shear) gksuk pkfg;sA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	58-	ce pØokr ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bldk fodkl xfeZ;ksa esa leqæ ds Åij ;k leqæ 
rV ij gksrk gSA

	 2-	 bldk fuekZ.k rc gksrk gS] tc i`Foh ls lrg dh 
gok ok;qeaMy esa rs”kh ls Åij mBrh gSA

	 3-	 ;g le'khrks".k v{kka'kksa ls 'kq: gksrk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 3
	 (c)	 2 vkSj 3	 (d)	1 vkSj 2

	59-	pØokrksa ls lacaf/r psrkouh ,oa tkudkjh ds fy;s Hkkjr 
ekSle foKku foHkkx dh dyj dksfMax ç.kkyh ds lanHkZ 
esa fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 (jax)		  (ladsr)
	 1-	 gjk jax	 –	 �fcuk çfrdwy ekSle dh fLFkfr ds 

lc Bhd gSA
	 2-	 ihyk jax	 –	 rS;kj (vyVZ) jgus dk ladsr
	 3-	 vkWjsat jax	 –	 �•jkc ekSle ls fuiVus ds fy;s 

xkMZ dks viMsV jgus ds fy;s
	 4-	 yky jax	 –	 �vf/dkfj;ksa dks dkjZokbZ djus dks 

lwfpr djus ds fy;sA

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	60-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr ukbthfj;k vkSj phu fo'o esa cktjk ds lcls 
cM+s mRiknd gSA

	 2-	 oSf'od Lrj ij lksj?ke (Tokj) lcls cM+h cktjk 
iQly gSA

	 3-	 o"kZ 2024 dks varjkZ"Vªh; cktjk o"kZ ?kksf"kr fd;k 
x;k gSA

		  Select the correct answer using the code given 
below :

	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 57.	 Consider the following statements with reference 

to the formation of a cyclone:
	 1.	 The sea surface temperature should be at least 

27 degrees.
	 2.	 Very large the amount of air should be wind 

share.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2
	 58.	 With reference to bomb cyclone, consider the 

following statements:
	 1.	 Its development occurs in summer above the 

sea or on the beach.
	 2.	 It is formed when the earth's surface air rises 

rapidly in the atmosphere.
	 3.	  It starts from temperate latitudes.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 3 only
	 (c)	 2 and 3	 (d)	 1 and 2
	 59.	 With reference to the India Meteorological 

Department's color coding system for cyclone 
warnings and information, consider the following 
pairs:

	 	    (Colour)		       (Indication)
	 1.	  Green Color	 -	 All is well without 
					    adverse weather 
					    conditions
	 2.	  Yellow Color	 -	 A sign of being prepared
	 3.	  Orange Color	 -	 Guard to stay updated to 
					    deal with bad weather
	 4. 	 Red Color	 -	 To inform the authorities 
					    to take action.
		  How many of the above pairs are correctly 

matched?		
	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs
	 60.	 Consider the following statements:
	 1.	 India, Nigeria and China are the largest 

producers of millets in the world.
	 2.	 Sorghum is the largest millet crop globally.
	 3.	 The year 2024 has been declared as the 

International Year of Millets.
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	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 2 vkSj 3	 (d)	1 vkSj 2

	61-	fuEufyf•r jkT;ksa ij fopkj dhft;s%

	 1-	 egkjk"Vª	 2-	jktLFkku
	 3-	 xqtjkr	 4-	>kj•aM

	 	mi;ZqÙkQ esa ls fdrus vke rkSj ij cktjk mRiknd jkT; 
ds :i esa tkus tkrs gSa\

	 (a)	 dsoy ,d jkT;	 (b)	dsoy nks jkT;
	 (c)	 dsoy rhu jkT;	 (d)	lHkh pkjksa jkT;

	62-	fo'o fojklr fgeun fjiksVZ ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g fjiksVZ ;wusLdks vkSj vkbZ;wlh,u }kjk la;qÙkQ :i 
ls tkjh dh tkrh gSA

	 2-	 ;wusLdks dh fo'o fojklr lwph esa 50 LFkyksa esa 
fgeunksa dh igpku dh xbZ gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	63-	iQqftokjk çHkko ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g 1400 fdeh ls de dh nwjh ij vius dsaæ 
ds lkFk ,d gh egklkxj {ks=k esa ,d gh le; 
ds vkl&ikl cuus okys m".kdfVca/h; rwiQkuksa ds 
chp dh dksbZ Hkh ikjLifjd fØ;k gSA 

	 2-	 ijLij fØ;k ls fdlh ,d ;k nksuksa rwiQku ç.kkfy;ksa 
ds VªSd vkSj rhozrk esa ifjorZu gks ldrk gSA

	 3-	 gky gh esa VkbiQwu fgUukeukWj vkSj xkMkZs uked 
m".kdfVca/h; pØokr esa iQqftokjk çHkko ns•k 
x;k gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	64-	fuEufyf•r esa ls dkSu nqfu;k ds ns'kksa dks ̂ Xykscy tsaMj 
xSi baMsDl* jSafdax çnku djrk gS\

	 (a)	 oYMZ bdksukWfed iQksje
	 (b)	 la;qÙkQ jk"Vª ekuokf/dkj ifj"kn
	 (c)	 la;qÙkQ jk"Vª efgyk
	 (d)	 fo'o LokLF; laxBu

	65-	tkek efLtn ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bls efLtn&,&tgkuqek Hkh dgrs gSaA
	 2-	 bldk fuekZ.k 1607 esa 'kkgtgk¡ us djok;k FkkA

		  Which of the statement(s) given above is/are 
correct?		

	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3	 (d)	 1 and 2

	 61.	 Consider the following states:
	 1.	 Maharashtra	 2.	 Rajasthan
	 3.	 Gujarat	 4.	 Jharkhand

		  How many of the above are commonly known as 
millet producing states?		

	 (a)	 Only one State	 (b)	 Only two secrets
	 (c)	 Only three states	 (d)	 All four states

	 62.	 With reference to the World Heritage Glacier 
Report, consider the following statements:

	 1.	 The report is jointly released by UNESCO 
and IUCN.

	 2.	 Glaciers have been identified in 50 sites in the 
UNESCO World Heritage List.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 63.	 Consider the following statements with reference 
to Fujiwara effect:

	 1. 	 It is any interaction between tropical storms 
forming around the same time in the same 
ocean region with their center at a distance 
of less than 1400 km. 

	 2.	 Interactions can lead to changes in the track 
and intensity of one or both storm systems.

	 3.	 Recently the Fujiwara effect has been 
observed in tropical cyclones named Typhoon 
Hinnamor and Guardo.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 64.	 Which of the following provides 'Global Gender 
Gap Index' ranking to the countries of the world?

	 (a)	 World Economic Forum
	 (b)	 United Nations Human Rights Council
	 (c)	 United Nations Women
	 (d)	 World Health Organization

	 65.	 With reference to Jama Masjid, consider the 
following statements:

	 1.	 It is also called Masjid-e-Jahanuma.
	 2.	 It was built by Shah Jahan in 1607.
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	 3-	 bldh okLrqdyk 'kSyh iw.kZr;k bLykfed gSA
	 4-	 bldk fuekZ.k yky cyqvk iRFkj vkSj liQsn 

laxejej dh lekukarj •M+h ifV~V;ksa ij fd;k 
x;k gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	1] 2 vkSj 4
	 (c)	 dsoy 1 vkSj 4	 (d)	dsoy 3

	66-	'kh LVse ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g  ukscsy eseksfj;y ohd dk ,d çeq• 
dk;ZØe gSA

	 2-	 bldk mís'; ;qok efgyk usr`Ro dks STEM 
(foKku] çkS|ksfxdh] bathfu;fjax] xf.kr) ds {ks=k esa 
'kkfey gksus vkSj dfj;j cukus ds fy;s çksRlkfgr 
djuk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	67-	gky gh esa ppkZ esa jgk ^ewuykbfVax* 'kCn fuEufyf•r 
esa ls fdls lanfHkZr djrk gS\

	 (a)	 phu }kjk LVªhV ykbV~l dks gVkus vkSj ns'k ds 'kgjh 
{ks=kksa esa fctyh dh ykxr dks de djus ds fy;s 
viuk ^Ñf=ke paæek* ykWUp djus dh ;kstukA

	 (b)	 eq[; fu;ksÙkQk dh tkudkjh ds fcuk ,d le; esa 
,d ls vf/d ukSdfj;k¡ djuk gSA

	 (c)	 paæek ij thou dh •kst ds fy;s uklk dk fe'ku
	 (d)	 mi;ZqÙkQ esa ls dksbZ ugha

	68-	fU;axek laçnk; ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;g lHkh ckS¼ laçnk;ksa esa lcls iqjkuk gSA
	 2-	 bl laçnk; dks jsM gSV laçnk; ds :i esa Hkh tkuk 

tkrk gSA
	 3-	 bldh f'k{kk,¡ eq[; :i ls iÁlaHko dh f'k{kkvksa 

ij vk/kfjr gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	69-	1857 dh Økafr esa fuEufyf•r esa ls dkSu&lk@lh efgyk,¡ 
'kkfey Fkha\

	 1-	 vlxjh csxe	 2-	mnk nsoh
	 3-	 Hkxorh nsoh R;kxh	 4-	egkfcjh nsoh
	 5-	 vkfttqu ckbZ

	 3.	 Its architectural style is completely Islamic.
	 4.	  It is constructed on parallel vertical strips of 

red sandstone and white marble.

		  Which of the statement(s) given above is/are 
correct?		

	 (a)	 1 and 2 only	 (b)	 1, 2 and 4
	 (c)	 1 and 4 only	 (d)	 3 only

	 66.	 With reference to SHE STEM, consider the 
following statements:

	 1. 	 It is a major event of the Nobel Memorial 
Week.

	 2.	 It aims to encourage young women leaders 
to join and make a career in the field of 
STEM (Science, Technology, Engineering, 
Mathematics).

		  Which of the statement(s) given above is/are 
correct?		

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2

	 67.	 The term ' Moonlighting' which has been in news 
recently refers to which of the following?

	 (a)	  China plans to launch its own 'artificial moon' 
to remove streetlights and reduce electricity 
costs in the country's urban areas.

	 (b)	 Carrying out more than one job at a time 
without the knowledge of the principal 
employer.

	 (c)	 NASA's mission to search for life on the Moon
	 (d)	 None of the above

	 68.	 With reference to the Nyingma sect, consider the 
following statements:

	 1.	 It is the oldest of all Buddhist sects.
	 2.	 This sect is also known as Red Hat sect.
	 3.	 Its teachings are mainly based on the teachings 

of Psambhava.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 69.	 Which of the following women was/were involved 
in the Revolt of 1857?

	 1.	 Asgari Begum	 2.	 Uda Devi
	 3.	 Bhagwati Devi Tyagi	4.	 Mahabiri Devi
	 5.	 Ajijan Bai
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	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 1] 2] 3 vkSj 4	 (b)	dsoy 2 vkSj 5
	 (c)	 dsoy 1] 4 vkSj 5	 (d)	1] 2] 3] 4 vkSj 5

	70-	MygkSth ds O;ixr fl¼kar ds varxZr 'kkfey fd;s x, 
jkT;ksa dk lgh Øe dkSu&lk gS\

	 1-	 tSriqj	 2-	c?kkV
	 3-	 >k¡lh	 4-	ukxiqj
	 5-	 mn;iqj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 1&2&4&5&3	 (b)	2&1&5&3&4
	 (c)	 1&2&5&3&4	 (d)	2&1&4&5&3

	71-	vyhiqj ce dsl ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g Hkkjr esa fdlh Hkh ifjek.k dk igyk LVsV 
Vªk;y FkkA

	 2-	 bl dsl esa cpko i{k ds odhy cky xaxk/j 
fryd FksA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	72-	vjfcanks ?kks"k ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bUgksaus dkWUxzsl dh ujeiaFkh jktuhfr dh vkykspuk 
dhA

	 2-	 bUgksaus ̂ oans ekrje*] ̂ deZ;ksfxuh* vkSj ̂ /eZ lekpkj 
i=k* 'kq: fd;kA

	 3-	 bUgksaus 1906 esa caxky us'kuy dkWyst ds ç/kukpk;Z 
ds :i esa dk;Z fd;kA

	 4-	 bUgksaus 1910 esa viuk Lo;a dk Økafrdkjh lewg 
cuk;kA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	1, 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4	 (d)	dsoy 4

	73-	vjfcanks ?kks"k us fuEufyf•r esa ls dkSu&lh lkfgfR;d 
jpuk dh gS\

	 1-	 n ykbiQ fMokbu	
	 2-	 ,Lls vkWu n xhrk
	 3-	 n bZ'kk mifu"kn
	 4-	 n flaFksflfl vkWiQ ;ksxk

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

		  Select the correct answer using the code given 
below :		

	 (a)	 1, 2, 3 and 4	 (b)	 2 and 5 only
	 (c)	 1, 4 and 5 only	 (d)	 1, 2, 3, 4 and 5

	 70.	 Which is the correct sequence of states included 
under Dalhousie's lapsed doctrine?

	 1.	 Jaitpur 	 2.	 Baghat
	 3.	 Jhansi 	 4.	 Nagpur
	 5.	 Udaipur

		  Select the correct answer using the codes given 
below :

	 (a)	 1-2-4-5-3 	 (b)	 2-1-5-3-4
	 (c)	 1-2-5-3-4 	 (d)	 2-1-4-5-3

	 71.	 With reference to the Alipore bomb case, consider 
the following statements:

	 1.	 It was the first state trial of any magnitude in 
India.

	 2.	 Bal Gangadhar Tilak was the defense counsel 
in this case .

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 72.	 With reference to Aurobindo Ghosh, consider the 
following statements:

	 1.	 He criticized the moderate politics of 
Congress.

	 2.	 He started Vande Mataram, Karmayogini and 
Dharma newspapers.

	 3.	 He served as the Principal of the Bengal 
National College in 1906.

	 4.	 He formed his own revolutionary group in 
1910.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 and 2 only 	 (b)	 1, 2 and 3
	 (c)	 3 and 4 only 	 (d)	 4 only

	 73.	 Which of the following is the literary work of 
Aurobindo Ghosh?

	 1.	 The Life Divine 
	 2.	 Essay on the Gita
	 3.	 The Isha Upanishad 
	 4.	 The Synthesis of Yoga

		  Select the correct answer using the codes given 
below :

	 (a)	 1, 2 and 4 only 	
	 (b)	 1, 2 and 3 only
	 (c)	 3 and 4 only 
	 (d)	 1, 2, 3 and 4
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	74-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 (eafnj)		 (LFkku)
	 1-	 eks<sjk lw;Z eafnj	 —	xqtjkr
	 2-	 dks.kkdZ lw;Z eafnj	 —	vksfM'kk
	 3-	 ekrZaM lw;Z eafnj	 —	tEew ,oa d'ehj
	 4-	 nf{k.kkdZ lw;Z eafnj	 —	rfeyukMq

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	75-	LFkkiR; dyk dh ek:&xqtZj 'kSyh ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g iYyo 'kSyh ds rgr mRiUu gqbZA
	 2-	 ;g 'kSyh tSu eafnjksa esa fo'ks"k :i ls yksdfç; 

gks xbZA
	 3-	 eks<sjk dk lw;Z eafnj LFkkiR; dyk dh ek:&xqtZj 

'kSyh ls fufeZr gSA

	 	mi;ZqÙkQ esa ls dkSu&ls dFku lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	76-	mukdksfV jkWd dV ewfrZ;ksa ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bls fetksje ds mÙkj&iwohZ {ks=k esa fLFkr 'kSo iwtk 
ls tqM+s ,d çkphu ifo=k LFkku ds :i esa tkuk 
tkrk gSA

	 2-	 bls çfl¼ :i ls mÙkj&iwoZ ds vaxdksjokV eafnj 
ds :i esa tkuk tkrk gSA

	 3-	 gky gh esa bls ;wusLdks dh fo'o /jksgj LFkyksa dh 
vLFkk;h lwph esa 'kkfey fd;k x;k gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 2 vkSj 3	 (b)	dsoy 1
	 (c)	 dsoy 3	 (d)	1 vkSj 2

	77-	;wusLdks dh fo'o fojklr LFky ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g lwph ;wusLdks }kjk 1972 esa viukbZ xbZ ^fo'o 
lkaLÑfrd vkSj çkÑfrd /jksgjksa ds laj{k.k ls 
lacaf/r dUosa'ku* uked varjkZ"Vªh; laf/ esa 
lfUufgr gSA

	 2-	 ;g iwjs fo'o esa mRÑ"V lkoZHkkSfed ewY;ksa ds 
çkÑfrd vkSj lkaLÑfrd LFkyksa ds laj{k.k dks 
c<+kok nsrs gSaA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 74.	 Consider the following pairs:
		  (Temple)		  (Place)
	 1.	 Modhera Sun Temple	–	 Gujarat
	 2.	 Konark Sun Temple	 –	 Odisha
	 3.	 Martand Sun Temple	 –	 Jammu and Kashmir
	 4.	 Dakshinark Sun	 –	 Tamil Nadu
		  Temple

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair	 (b)	 Only two pairs
	 (c)	 Only three pairs	 (d)	 All four pairs

	 75.	 With reference to the Maru-Gurjar style of 
architecture, consider the following statements:

	 1.	 It originated under the Pallava style.
	 2.	 This style became particularly popular in Jain 

temples.
	 3.	 The Sun Temple of Modhera is built in the 

Maru-Gurjar style of architecture.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only 	 (b)	 1 and 3 only
	 (c)	 2 and 3 only 	 (d)	 1, 2 and 3

   76. With reference to Unakoti Rock Cut Sculptures, 
consider the following statements:

	 1.	 It is known to be an ancient holy place 
associated with Shaiva worship located in the 
north-eastern region of Mizoram.

	 2.	 It is famously known as the AngkorWat 
Temple of the North-East.

	 3.	 It has been included in the tentative list of 	
UNESCO World Heritage Sites recently.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 3 	 (b)	 1 only
	 (c)	 3 only 	 (d)	 1 and 2

	 77.	 With reference to UNESCO World Heritage Site, 
consider the following statements:

	 1.	 This list is embodied in an international 
treaty called the 'Convention concerning the 
Protection of the World Cultural and Natural 
Heritage' adopted in 1972 by UNESCO.

	 2.	 It promotes the conservation of natural and 
cultural sites of outstanding universal value 
throughout the world.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1, nor 2
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	78-	lkaLÑfrd fojklr ds laj{k.k ds fy;s ;wusLdks 
,f'k;k&ç'kkar iqjLdkj ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 ;g iqjLdkj o"kZ 2000 ls ;wusLdks }kjk ,f'k;k&ç'kkar 
{ks=k esa fdlh O;fÙkQ ;k laLFkk lkaLÑfrd fojklr 
ds {ks=kksa ds laj{k.k dks c<+kok nsus ds fy;s fn;k 
tk jgk gSA

	 2-	 gky gh esa bl iqjLdkj esa Hkkjr ds Ng fotsrk 
'kkfey gSaA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	79-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 1-	 dksYdkyh dyk	 —	dukZVd
	 2-	 laxbZ egksRlo	 —	f=kiqjk
	 3-	 fVdqyh fp=kdyk	 —	vksfM'kk

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 lHkh rhuksa ;qXe

	80-	txnh'k paæ cksl ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 bUgksaus 1917 esa var%fo"k; vè;;u ds çfr 
lefiZr  ,f'k;k ds igys vk/qfud cksl laLFkku 
dh LFkkiuk dhA

	 2-	 bUgksaus ikS/ksa dh o`f¼ dh eki ds fy;s ØsLdksxzkiQ 
dk vkfo"dkj fd;k FkkA

	 3-	 bUgsa lR;kxzgh oSKkfud Hkh dgk tkrk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3

	81-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 9oha fo'o vk;qoZsn dkWUxzsl dk vk;kstu xka/huxj 
xqtjkr esa fd;k x;k FkkA

	 2-	 9oha fo'o vk;qoZsn dkWUxzsl dh Fkhe LokLF; ds 
fy;s vk;qoZsn FkhA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	
	 (d)	 u rks 1 vkSj u gh 2

	 78.	 With reference to UNESCO Asia-Pacific Award 
for Conservation of Cultural Heritage, consider 
the following statements:

	 1.	 This award is being given by UNESCO since 
the year 2000 to any person or institution 
in the Asia-Pacific region to promote the 
conservation of cultural heritage areas.

	 2.	 Recently this award includes six winners from 
India.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1, nor 2

	 79.	 Consider the following pairs:
	 1.	 Kolkali Art 	 –	 Karnataka
	 2.	 Sangai Festival	 –	 Tripura
	 3.	 Tikuli Painting	 –	 Odisha

		  How many of the above pairs are correctly 
matched?

	 (a)	 None of the pairs
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All three pairs

	 80.	 With reference to Jagdish Chandra Bose, consider 
the following statements:

	 1.	 In 1917, he established the first modern Bose 
Institute in Asia devoted to interdisciplinary 
studies .

	 2.	 He invented Crescograph for measuring the 
growth of plants.

	 3.	 He is also called Satyagrahi Scientist.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 3 only 	 (b)	 1 and 2
	 (c)	 2 and 3 	 (d)	 1, 2 and 3

	 81.	 Consider the following statements:
	 1.	 The 9th World Ayurveda Congress was 

organized at Gandhinagar Gujarat.
	 2.	 The theme of the 9th World Ayurveda 

Congress was Ayurveda for Health.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only 	
	 (b)	 2 only
	 (c)	 Both 1 and 2 
	 (d)	 Neither 1, nor 2
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	82-	fla?kuiqj xqiQk ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 ;gk¡ ij i`Foh dh lcls iqjkuh çLrj dh •kst 
dh xbZA

	 2-	 ;g jk¡ph (>kj•aM) ds ikl vofLFkr gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	83-	csiksj dh m# ijaijk ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 ;g dsjy esa dq'ky dkjhxjksa vkSj c<+bZ }kjk nLrdkjh 
dh xbZ ydM+h ls cuh ,d <ks (tgkt) gSA

	 2-	 blds fuekZ.k ls tqM+s çeq• yksx vksMkf;l vkSj 
•kyfll leqnk; ls gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	84-	fuEufyf•r esa ls fdu jkT;ksa ds lkFk vle dk lhek 
fookn py jgk gS\

	 1-	 es?kky;	 2-	flfDde
	 3-	 v#.kkpy çns'k	 4-	ukxkySaM
	 5-	 fe”kksje

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 4
	 (b)	 dsoy 2] 4 vkSj 5
	 (c)	 dsoy 1] 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	85-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 (lkbcj vVSd çdkj)		(dk;Z)
	 1-	 cSdMksj Vªkstu	 —	�flLVe es a cSdMksj 

Hksnrk dk dk;Z ftlls 
geykoj dk dgha ls 
c SBdj flLVe ij 
yxHkx iw.kZ fu;a=k.k 
çkIr djus dh vuqefrA

	 2-	 fMuk;y&vkWiQ&lfoZl	 —	�;g geyk fdlh vU; 
geys ds fy;s ,d 
lsVvi gksrk gSA

	 3-	 eSyos;j	 —	�;g flLVe dks laØfer 
dj fuf"Ø; dj nsrk 
gSA

	 4-	 fiQf'kax	 —	�mi;k sxdrk Zvk s a dh 
O;fÙkQxr tkudkjh 
pqjkus ds fy;s 

	 82.	 With reference to the Singhanpur Caves, consider 
the following statements:

	 1.	 The oldest stone of the earth was discovered 
here.

	 2.	 It is situated near Ranchi (Jharkhand).

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 83.	 With reference to the Uru tradition of Beypore, 
consider the following statements:

	 1.	 It is a dho (ship) made of wood handcrafted 
by skilled artisans and carpenters in Kerala.

	 2.	 The prominent people associated with its 
construction are from Odais and Khalsis 
community.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1, nor 2

	 84.	 With which of the following states Assam is having 
border dispute?

	 1.	 Meghalaya 	 2.	 Sikkim
	 3.	 Arunachal Pradesh	 4.	 Nagaland
	 5.	 Mizoram

		  Select the correct answer using the codes given 
below :

	 (a)	 1, 2 and 4 only
	 (b)	 2, 4 and 5 only
	 (c)	 1, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5

	 85.	 Consider the following pairs:
		  (Cyber attack type)		  (Function)
	 1.	 Backdoor Trojan	 –	 Allowing you to have 
					    almost complete 
					    control over the 
					    system from
					    anywhere.
	 2.	 Denial-of-service	 –	 This attack is a setup 
					    for another attack.
	 3.	 Malware	 –	 It infects and disables 
					    the system.
	 4.	 Phishing	 –	 To steal user's 
		                     personal information
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	 5-	 jSaleos;j	 —	�ifj"Ñr eSyos;j] tks 
flLVe dh dk;Z {kerk 
dks ca/d j•us ds 
fy;s etcwr ,afØI'ku 
dk mi;ksx

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 5
	 (b)	 dsoy 1] 2 vkSj 4
	 (c)	 dsoy 2] 3] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	86-	buksos'ku iQkWj fMiQsal ,Dlhysal (iDEX) ds lanHkZ esa 
fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 bls 2020 esa ykWUp fd;k x;k FkkA
	 2-	 ;g vuqla/ku vkSj fodkl ds fy;s MSMEs] 

LVkVZvi] O;fÙkQxr uoçorZudrkZvksa] vuqla/ku ,oa 
fodkl laLFkkvksa o f'k{kkfonksa dks vuqnku çnku 
djrk gSA

	 3-	 iDEX dks  foÙk foHkkx }kjk foÙkiksf"kr vkSj çcaf/r 
fd;k tkrk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 3	 (b)	1 vkSj 2
	 (c)	 1 vkSj 3	 (d)	1] 2] vkSj 3

	87-	vkbZ,u,l eksjeqxkvks ds lanHkZ esa fuEufyf•r dFkuksa 
ij fopkj dhft;s%

	 1-	 bls dksphu f'ki;kMZ fyfeVsM }kjk cuk;k x;k gSA
	 2-	 bls çkstsDV 15B ds rgr fo'kk•kiÙkue Js.kh ds 

foèoald esa ls nwljk tgkt gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	88-	vfXu&5 cSfyfLVd felkby ds lanHkZ esa fuEufyf•r 
dFkuksa ij fopkj dhft;s%

	 1-	 bls bljks vkSj MhvkjMhvks }kjk la;qDr :i ls 
fodflr fd;k x;k gSA

	 2-	 ;g lrg ls gok ekj djus okyh cSfyfLVd 
felkby gSA

	 3-	 ;g pkj pj.k ds Bksl&bZa/u okys batu dk mi;ksx 
djrh gSA

	 4-	 blesa 5000 fdeh dh lhek ls ijs y{; dks Hksnus 
dh {kerk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 2 vkSj 4	 (b)	1] 2 vkSj 3
	 (c)	 dsoy 1 vkSj 2	 (d)	dsoy 4

	 5.	 Ransomware	 –	 A Sophisticated 
					    malware that 
					    uses strong encryption 
					    to hinder system 
					    performance.

		  Select the correct answer using the codes given 
below :

	 (a)	 1, 3 and 5 only	
	 (b)	 1, 2 and 4 only
	 (c)	 2, 3, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5

	 86.	 With reference to Innovation for Defense 
Excellence (iDEX), consider the following 
statements:

	 1.	 It was launched in 2020.
	 2.	 It provides grants to MSMEs startups, 

individual innovators, R&D institutions and 
academics for research and development.

	 3.	 iDEX is funded and managed by the 
Department of Finance.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only 	 (b)	 1 and 2
	 (c)	 1 and 3 	 (d)	 1, 2 and 3

	 87.	 With reference to INS Mormugao, consider the 
following statements:

	 1.	 It has been built by Cochin Shipyard Limited.
	 2.	 It is the second ship of the Visakhapatnam 

series destroyers under Project 15B.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 88.	 With reference to Agni-5 ballistic missile, consider 
the following statements:

	 1.	 It has been jointly developed by ISRO and 
DRDO.

	 2.	 It is a surface-to-air ballistic missile.
	 3.	 It uses a four-stage solid-fuel engine.
	 4.	 It has the capability to engage targets beyond 

a range of 5000 km.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 2 and 4 only 	 (b)	 1, 2 and 3
	 (c)	 1 and 2 only 	 (d)	 4 only
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	89-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 (lSU; vH;kl)		 (ns'kksa ds eè;)
	 1-	 vfXu okWfj;j	 —	 Hkkjr vkSj flaxkiqj
	 2-	 lw;Z fdj.k	 —	 Hkkjr vkSj :l
	 3-	 dkftan&22	 —	 Hkkjr vkSj d”kk•Lrku
	 4-	 ;q¼ vH;kl	 —	 Hkkjr vkSj fczVsu

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	90-	ulhe vy&cgj ukSlsuk vH;kl fdu ns'kksa ds eè; fd;k 
tkrk gS\

	 (a)	 Hkkjr vkSj la;qÙkQ vjc vehjkr
	 (b)	 Hkkjr vkSj vkseku
	 (c)	 Hkkjr vkSj ;eu
	 (d)	 Hkkjr vkSj drj

	91-	lsaVªy foLVk ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 bls ,Mfou yqfV;al vkSj gcZVZ csdj us fczfV'k jkt 
ds fy;s lhV ds :i esa fMtkbu fd;k FkkA

	 2-	 baihfj;y dkmafly gkml dks jk"Vªifr Hkou ds 
:i esa viuk;k x;k FkkA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	92-	'G20' ds lanHkZ esa fuEufyf•r dFkuksa ij fopkj 
dhft;s%

	 1-	 le; ds lkFk {ks=kh; larqyu lqfuf'pr djus ds 
fy;s G20 dh vè;{krk f}okf"kZd :i ls ns'kksa ds 
eè; ?kw.kZu (Rotate) djrh gSA

	 2-	 G20 dk eq[;ky; ftusok] fLoV~tjySaM esa fLFkr gSA
	 3-	 U;wthySaM] eSfDldks vkSj :l G20 ds lnL; gSaA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh ugha gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	93-	^c`gns'oj eafnj* ds lanHkZ esa fuEufyf•r dFkuksa ij 
fopkj dhft;s%

	 1-	 bls jktk jkts'oj eafnj ds uke ls Hkh tkuk tkrk gSA
	 2-	 v#yeks>hoeZu us c`gns'oj eafnj dh uhao j•hA
	 3-	 ;g vka/z çns'k jkT; esa fLFkr gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3
	 (c)	 dsoy 2 vkSj 3	 (d)	1] 2 vkSj 3

	 89.	 Consider the following pairs:
		  (Military exercise) 		  (Between countries)
	 1.	 Agni Warrior	 –	 India and Singapore
	 2.	 Surya Kiran	 –	 India and Russia
	 3.	 Kazind-22	 –	 India  and 
					    Kazakhstan
	 4.	 Yudh Abhyas	 –	 India and Britain

		  How many of the above pairs are correctly 
matched?

	 (a)	 Only one pair 	 (b)	 Only two pairs
	 (c)	 Only three pairs 	 (d)	 All four pairs

	 90.	 Naseem Al-Bahr naval exercise is conducted 
between which countries?

	 (a)	 India and United Arab Emirates
	 (b)	 India and Oman
	 (c)	 India and Yemen
	 (d)	 India and Qatar

	 91.	 With reference to the Central Vista, consider the 
following statements:

	 1.	 It was designed by Edwin Lutyens and Herbert 
Baker as the seat for the British Raj.

	 2.	 The Imperial Council House was adopted as 
the Rashtrapati Bhavan.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1, nor 2

	 92.	 With reference to "G20", consider the following 
statements:

	 1.	 The presidency of the G20 rotates biennially 
among countries to ensure regional balance 
over time.

	 2.	 The headquarters of G20 is located in Geneva, 
Switzerland.

	 3.	 New Zealand, Mexico and Russia are the 
members of G20.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 93.	 With reference to “Brihadeshwar Temple”, 
consider the following statements:

	 1.	 It is also known as Raja Rajeshwar Temple.
	 2.	 Arulmozhivarman laid the foundation of the 

Brihadeeswarar Temple.
	 3.	 It is situated in the Andhra Pradesh state.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only 	 (b)	 1 and 3 only
	 (c)	 2 and 3 only 	 (d)	 1, 2 and 3
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	94-	fuEufyf•r esa ls dkSu ls bZ&xouZesaV MsoyiesaV baMsDl 
(EGDI) ds ?kVd gSa\

	 1-	 vkWuykbu lsok lwpdkad
	 2-	 ekuo iwath lwpdkad
	 3-	 nwjlapkj volajpuk lwpdkad
	 4-	 f'k{kk lwpdkad

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 3 vkSj 4	
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	95-	¶vksiu usVodZ iQkWj fMftVy dkWelZ (ONDC)¸ ds 
lanHkZ esa fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 ;g ,d xSj&ykHkdkjh laxBu gS] tks LFkkuh; 
fMftVy okf.kT; LVksjksa dks •kstus esa l{ke cukus 
ds fy;s ,d usVodZ çnku djrk gSA

	 2-	 ;g u rks ,xzhxsVj ,Iyhds'ku gS vkSj u gh gksfLVax 
IysViQkWeZA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	96-	fuEufyf•r esa ls dkSu&lk ea=kky; ^ijiQkWeZsal xzsfMax 
baMsDl* (Performance Grading Index) tkjh djrk gS\

	 (a)	 f'k{kk ea=kky;
	 (b)	 miHkksÙkQk ekeys] •k| vkSj lkoZtfud forj.k 

ea=kky;
	 (c)	 diM+k ea=kky;
	 (d)	 okf.kT; vkSj m|ksx ea=kky;

	97-	fuEufyf•r ;qXeksa ij fopkj dhft;s%

	 	 (fjiksVZ@baMsDl)		 (tkjhdrkZ)
	 1-	 oSf'od ty lalk/u	 —	fo'o ekSle foKku 

fLFkfr fjiksVZ	 	laxBu
	 2-	 dkWLV vkWiQ fyfoax	 —	bdksukWfeLV baVsfytsal 

baMsDl	 	;wfuV
	 3-	 oSf'od •k| lqj{kk	 —	fczfV'k lkIrkfgd n 

lwpdkad fjiksVZ	 	bdksukWfeLV

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 lHkh rhuksa ;qXe

	 94.	 Which of the following are the components of the 
E-Government Development Index (EGDI)?

	 1.	 Online Service Index
	 2.	 Human Capital Index
	 3.	 Telecom Infrastructure Index
	 4.	 Education Index

		  Select the correct answer using the code given 
below :

	 (a)	 1, 3 and 4 only	
	 (b)	 1, 2 and 3 only
	 (c)	 2 and 4 only
	 (d)	 1, 2, 3 and 4

	 95.	 With reference to “Open Network for Digital 
Commerce (ONDC)”, consider the following 
statements:

	 1.	 It is a non-profit organization that provides 
a network to enable local digital commerce 
stores to be discovered.

	 2.	 It is neither an aggregator application nor a 
hosting platform.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2

 	96.	 Which of the following ministries issues the 
"Performance Grading Index"?

	 (a)	 Ministry of Education
	 (b)	 Ministry of Consumer Affairs, Food and 

Public Distribution
	 (c)	 Ministry of Textiles
	 (d)	 Ministry of Commerce and Industry

	 97.	 Consider the following pairs:
		  (Report/Index)		  (Issuer)
	 1.	 Global Water	 –	 World 
			  Resources Status		  Meteorological 	

	Report		  Organization
	 2.	 Cost of living index	 –	 Economist 
					    Intelligence Unit
	 3.	 Global food security	 –	 British weekly The 
		  index report		  Economist

		  How many of the above pairs are correctly 
matched?

	 (a)	 None of the pairs	
	 (b)	 Only one pair
	 (c)	 Only two pairs
	 (d)	 All the three pairs
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	98-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 vkS|ksfxd mRltZu ij MhdkckZsukbftax fjiksVZ Hkkjh 

m|ksx ,oa lkoZtfud m|e ea=kky; }kjk tkjh fd;k 

tkrk gSA

	 2-	 lkekftd çxfr lwpdkad uhfr vk;ksx }kjk uhfr 

vk;ksx }kjk tkjh fd;k tkrk gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	99-	fuEufyf•r dFkuksa ij fopkj dhft;s%

	 1-	 lat; xka/h jk"Vªh; m|ku egkjk"Vª esa fLFkr gSA

	 2-	 dkthjaxk jk"Vªh; m|ku fetksje esa fLFkr gSA

	 3-	 lDdjckx twykWftdy ikdZ eè; çns'k esa fLFkr gSA

	 	mi;ZqÙkQ dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 2 vkSj 3	 (d)	1 vkSj 2

	100-	fuEufyf•r ns'kksa ij fopkj dhft;s%

	 	 ns'k		�  gky gh esa lekpkj esa gksus dk 

egÙoiw.kZ dkj.k

	 1-	 :l	 –	 dkepVdk çk;}hi esa nks Tokykeq•h 

	 	 		 	 foLiQksV

	 2-	 baMksusf'k;k	 –	 lqek=kk }hi fLFkr lses# Tokykeq•h 

	 	 		 	 esa foLiQksV

	 3-	 ;w-,l-,	 –	 fo'o ds lcls cM+s lfØ; 

	 	 		 	 Tokykeq•h ekSuk yksvk esa foLiQksV

	 	mi;ZqÙkQ ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	dsoy ,d ;qXe

	 (c)	 dsoy nks ;qXe	 (d)	lHkh rhuksa ;qXe

	 98.	 Consider the following statements:
	 1.	 The Decarbonizing Report on Industrial 

Emissions is issued by the Ministry of Heavy 
Industries and Public Enterprises.

	 2.	 Social Progress Index is released by NITI 
Aayog.

		  Which of the statement(s) given above is/are 
correct?

	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1, nor 2

	 99.	 Consider the following statements:
	 1.	 Sanjay Gandhi National Park is situated in 

Maharashtra.
	 2.	 Kaziranga National Park is situated in 

Mizoram.
	 3.	 Sakkarbagh Zoological Park is situated in 

Madhya Pradesh.
		  Which of the statement(s) given above is/are 

correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 2 and 3	 (d)	 1 and 2
	100.	 Consider the following countries:
		  Countries		�  Important reason for 

being in news recently
	 1.	 Russia	 –	 Two volcanic eruptions 
					    in the Kamchatka 
					    Peninsula
	 2.	 Indonesia	 –	 Explosion in Semeru 
					    volcano on Sumatra Island
	 3.	 USA	 –	 Eruption in Mauna Loa, 
					    the world’s largest active 
					    volcano
		  How many of the above pairs are correctly 

matched?
	 (a)	 None of the pairs	 (b)	 Only one pair
	 (c)	 Only two pairs	 (d)	 All three pairs


